Science & Technology Asia



 ${\bf Homepage:}\ https://tci-thaijo.org/index.php/SciTechAsia$

Vol.27 No.4 October - December 2022

Original research article

Page: [228-235]

Some Number-Theoretic Products

Narakorn Rompurk Kanasri*, Arlisa Janjing

Department of Mathematics, Khon Kaen University, Khon Kaen 40002, Thailand

Received 15 February 2022; Received in revised form 28 May 2022 Accepted 7 June 2022; Available online 31 December 2022

ABSTRACT

For a positive integer n, let P(n) and P'(n) be the products of all elements in the finite sets $\{x: 1 \le x \le n, (x, n) = 1\}$ and $\{x: 1 \le x \le n/2, (x, n) = 1\}$, respectively. In this article, we verify the formula for P(n) and use it to establish the formula for P'(n). Explicit formulae for both $P(p^a)$ and $P'(p^a)$, where p^a is a prime power, are also derived.

Keywords: arithmetic function; Euler phi-function; Möbius function; product form of the Möbius inversion formula

1. Introduction

As usual (m, n) denotes the greatest common divisor of integers m and n and |A| is the number of elements in a finite set A. By an *arithmetic function*, we mean a mapping f from the set of positive integers \mathbb{N} into the field of complex numbers \mathbb{C} . There are many interesting examples of arithmetic functions. Two of them are the *Euler phifunction*,

$$\phi(n) = |\{x : 1 \le x \le n, (x, n) = 1\}|$$

and the Möbius function,

$$\mu(n) = \begin{cases} 1 & \text{if } n = 1, \\ 0 & \text{if } p^2 | n \text{ for some prime } p, \\ (-1)^r & \text{if } n = p_1 p_2 \cdots p_r, \text{ where } \\ & \text{all } p_i \text{ are distinct primes.} \end{cases}$$

For positive integers n and k, define finite sets of positive integers as follows:

$$R_k(n) = \{x^k : 1 \le x \le n, (x, n) = 1\},\$$

$$R_{k}^{'}(n)=\{x^{k}:1\leq x\leq \frac{n}{2},\,(x,n)=1\}.$$

Note that

$$|R_1(n)| = \phi(n) \quad (n \ge 1)$$
 (1.1)

Let $S_k(n) = \sum R_k(n)$ and $S'_k(n) = \sum R'_k(n)$, where $\sum A$ denotes the sum of all elements in a finite set A of positive integers. It is well-known [3] that

$$S_1(n) = \frac{n\phi(n)}{2} \quad (n > 1)$$

and there is an exercise in [2] that

$$S_2(n) = \frac{2n^2\phi(n) + n\psi(n)}{6} \quad (n > 1),$$

where ψ is an arithmetic function defined by $\psi(1) = 1$ and $\psi(n) = \prod_{p|n} (1-p)$ for n > 1, the product is over the prime divisors of n.

In another direction, Baum [2] provided the formula for $S_1'(n)$ and he advised the reader to prove $S_2'(n)$ as an exercise. The formulae for both $S_1'(n)$ and $S_2'(n)$ are as follows:

$$S_{1}^{'}\left(n\right)=\frac{1}{8}\left(n\phi\left(n\right)-|r|\psi\left(n\right)\right)\quad\left(n>2\right),$$

where $n \equiv r \pmod{4}$ with $r \in \{-1, 0, 1, 2\}$ and

$$S_{2}^{'}(n) = \begin{cases} \frac{n^{2}\phi(n) + 2n\psi(n)}{24} & \text{if } n \equiv 0 \pmod{4} \\ \frac{n^{2}\phi(n) - n\psi(n)}{24} & \text{if } n \equiv \pm 1 \pmod{4} \\ \frac{n^{2}\phi(n) - 4n\psi(n)}{24} & \text{if } n \equiv 2 \pmod{4} \end{cases}$$

for all n > 2.

In 2019, Kanasri, Pornsurat, and Tongron [4] established the general formulae for both $S_k(n)$ and $S_k'(n)$ for all positive integers n and k by the use of the Möbius inversion formula. They also confirmed that the known results for k = 1, 2, as mentioned above, follow from these general formulae.

Theorem 1.1. *Möbius inversion formula*Let F and f be two arithmetic functions related by the formula

$$F\left(n\right) = \sum_{d\mid n} f\left(d\right).$$

Then

$$f(n) = \sum_{d|n} \mu(d) F\left(\frac{n}{d}\right).$$

Note that the converse of the Möbius inversion formula is also true [5], [6]. The formulae for $S_k(n)$ and $S_k(n)$ are as follows: For any positive integer k, we have

$$S_k(n) = \sum_{d|n} \mu(d) d^k g_k \left(\frac{n}{d}\right) \quad (n \ge 1)$$

and for
$$n > 2$$
, $S'_{k}(n) =$

$$\begin{cases} \sum_{d|(n/2)} \mu(d) d^k g_k \left(\frac{n}{2d}\right) & \text{if } n \equiv 0 \pmod{4} \\ \sum_{d|n} \mu(d) d^k g_k \left(\frac{n/d-1}{2}\right) & \text{if } n \equiv \pm 1 \pmod{4} \\ \sum_{d|(n/2)} \mu(d) d^k \left(g_k \left(\frac{n}{2d}\right) - 2^k g_k \left(\frac{n/2d-1}{2}\right)\right) & \text{if } n \equiv 2 \pmod{4}, \end{cases}$$

where $g_k(n) = 1^k + 2^k + \dots + n^k$.

Recently, the authors [8] established a generalization of $S_k(n)$ and $S_k'(n)$ by the use of Möbius inversion formula as follows: For positive integers k, m, and n with n > m, let $S_k^m(n)$ be the sum of all elements in the finite set $\{x^k : 1 \le x \le n/m, (x, n) = 1\}$. Then

$$S_k^m(n) = \sum_{d \mid n} \mu(d) d^k g_k \left(\lfloor n/dm \rfloor \right), \quad (1.2)$$

where $\lfloor x \rfloor$ is the largest integer less than or equal to a real number x and let $g_k(0) = 0$ for n < dm. We also verified that the formulae for $S_k(n)$ and $S_k'(n)$ in [4] follow from Eq. (1.2) by letting m = 1 and m = 2, respectively.

We observe that all of the results mentioned above are verified by using the useful theorem, Möbius inversion formula. However, there is a product form of the Möbius inversion formula as an exercise in [1] and [6]. This form motivates us to study the products of all elements in $R_k(n)$ and $R'_k(n)$.

For positive integers n and k, we now

let

$$P_k(n) = \prod R_k(n)$$

and

$$P_{k}^{'}(n) = \prod R_{k}^{'}(n),$$

where $\prod A$ denotes the product of all elements in a finite set A of positive integers. In this work, we are interested in establishing the formulae for both $P_k(n)$ and $P_k'(n)$. Since

$$P_k(n) = (P_1(n))^k$$
 and $P'_k(n) = (P'_1(n))^k$,

it suffices to establish the formulae for $P(n) := P_1(n)$ and $P'(n) := P_1'(n)$. However, there is an exercise in [1] and [6] to verify the formula for P(n) by using the product form of the Möbius inversion formula.

In this article, we first verify the product form of the Möbius inversion formula and use it to verify the formula for P(n). We then establish a formula for P'(n) by using both results mentioned above. Moreover, explicit formulae for $P(p^a)$ and $P'(p^a)$, where p^a is a prime power, are also derived.

2. Main results

Several well-known facts that we shall use in this article are collected in the following lemma [3], [7].

Lemma 2.1. For each positive integer $n \ge 1$, we have

(i)
$$\sum_{d|n} \mu(d) = \begin{cases} 1 & \text{if } n = 1 \\ 0 & \text{if } n > 1. \end{cases}$$

(ii) $\sum_{d|n} \phi(d) = n$, the sums being extended over all positive divisors of n.

(iii)
$$\phi(n) = n \prod_{p|n} \left(1 - \frac{1}{p}\right)$$
,
the product being taken over all primes which divide n .

By Lemma 2.1(iii), we have that

$$\phi(p^a) = p^a - p^{a-1} \tag{2.1}$$

for all primes p and $a \in \mathbb{N}$.

Before proceeding to our main results, we start with the following useful lemmas, the first one is the *product form of the Möbius inversion formula*.

Lemma 2.2. Let f and g be two arithmetic functions such that $g(n) \neq 0$ for all $n \in \mathbb{N}$. Then

$$f(n) = \prod_{d|n} g(d)$$

if and only if

$$g(n) = \prod_{d|n} f(d)^{\mu(n/d)},$$

where d runs through the positive divisors of n.

Proof. Assume that $f(n) = \prod_{d|n} g(d)$. Using the fact that

$$\{d \in \mathbb{N} : d \mid n\} = \{n/d : d \in \mathbb{N}, d \mid n\},\$$
 (2.2)

we have

$$\prod_{d|n} f(d)^{\mu(n/d)} = \prod_{d|n} f\left(\frac{n}{d}\right)^{\mu(d)}$$
$$= \prod_{d|n} \prod_{e|(n/d)} g(e)^{\mu(d)}.$$

Since d|n and e|(n/d) if and only if e|n and d|(n/e), the last equation becomes

$$\prod_{d|n} \prod_{e|(n/d)} g(e)^{\mu(d)} = \prod_{e|n} \prod_{d|(n/e)} g(e)^{\mu(d)}$$

$$= \prod_{e|n} g(e)^{\sum_{d|(n/e)} \mu(d)}$$

$$= g(n)^{\mu(1)} \prod_{\substack{e|n \ e \leq n}} g(e)^{\sum_{d|(n/e)} \mu(d)}.$$

By Lemma 2.1(i), we have $\sum_{d|(n/e)} \mu(d) = 0$ for e|n with e < n. It follows that $\prod_{d|n} f(d)^{\mu(n/d)} = g(n)$.

On the other hand, we suppose that $g(n) = \prod_{d|n} f(d)^{\mu(n/d)}$. Again by (2.2), we have

$$\prod_{d|n} g\left(d\right) = \prod_{d|n} g\left(\frac{n}{d}\right) = \prod_{d|n} \prod_{e|(n/d)} f\left(e\right)^{\mu\left(\frac{n/d}{e}\right)}.$$

Since d|n and e|(n/d) if and only if e|n and d|(n/e), the last equation becomes

by Lemma 2.1(i). Hence, $\prod_{d|n} g(d) = f(n)$, as desired.

Lemma 2.3. For an odd integer n > 1, we have

$$\left| \left\{ x : 1 \le x \le \frac{n-1}{2}, (x, n) = 1 \right\} \right| = \frac{\phi(n)}{2}.$$

Proof. Let n > 1 be an odd integer and let

$$\begin{split} A &= \left\{ x : 1 \le x \le \frac{n-1}{2}, (x,n) = 1 \right\}, \\ B &= \left\{ x : -\frac{n-1}{2} \le x \le \frac{n-1}{2}, (x,n) = 1 \right\}. \end{split}$$

For $i \in \{0, 1, 2, \dots, (n-1)/2\}$, we have

$$i \equiv i \pmod{n}$$
 and $-i \equiv n - i \pmod{n}$.

By the fact that for $a, b \in \mathbb{Z}$, if $a \equiv b \pmod{n}$, then (a, n) = (b, n), we obtain

$$|B| = |\{x : 1 \le x \le n, (k, n) = 1\}| = \phi(n).$$

Since (-x, n) = (x, n) = 1 for all $x \in A$, we conclude that

$$|A| = \frac{|B|}{2} = \frac{\phi(n)}{2},$$

as desired.

We are now ready to verify the formula for P(n) as the following.

Theorem 2.4. For each positive integer $den \geq 1$, we have

$$P(n) = n^{\phi(n)} \prod_{d \mid n} \left(\frac{d!}{d^d} \right)^{\mu(n/d)}.$$

Proof. For a positive divisor d of n, we define

$$A_d = \{x : 1 \le x \le n, (x, n) = d\}.$$

Note that $A_d \neq \emptyset$ since $d \in A_d$. Clearly, $\bigcup_{d|n} A_d = \{1, 2, \dots, n\}$ and $A_{d_1} \cap A_{d_2} = \emptyset$ for $d_1 \neq d_2$. It follows that

$$\prod_{i=1}^{n} i = n! = \prod_{d \mid n} \prod A_d. \tag{2.3}$$

We next show that

$$A_d = dR_1 \left(\frac{n}{d}\right). \tag{2.4}$$

If $x \in A_d$, then $1 \le x \le n$ and (x, n) = d. It follows that $x/d \in \mathbb{N}$, $1 \le x/d \le n/d$, and (x/d, n/d) = 1. We consequently have $x/d \in R_1(n/d)$ and so $x \in dR_1(n/d)$. If $y \in R_1(n/d)$, then $1 \le y \le n/d$ and (y, n/d) = 1. It follows that $1 \le d \le dy \le n$ and (dy, n) = d. This shows that $dy \in A_d$.

For d|n, we obtain by (1.1) and (2.4) that

$$\prod A_d = \prod dR_1 \left(\frac{n}{d}\right)$$

$$= d^{\phi(n/d)} \prod R_1 \left(\frac{n}{d}\right)$$

$$= d^{\phi(n/d)} P\left(\frac{n}{d}\right).$$

It follows from Lemma 2.1(ii), (2.2), and (2.3) that

$$n! = \prod_{d \mid n} d^{\phi(n/d)} P\left(\frac{n}{d}\right)$$

$$\begin{split} &= \prod_{d|n} \left(\frac{n}{d}\right)^{\phi(d)} P\left(d\right) \\ &= \prod_{d|n} n^{\phi(d)} \prod_{d|n} \frac{P\left(d\right)}{d^{\phi(d)}} \\ &= n^{\sum_{d|n} \phi(d)} \prod_{d|n} \frac{P\left(d\right)}{d^{\phi(d)}} \\ &= n^n \prod_{d|n} \frac{P\left(d\right)}{d^{\phi(d)}}, \end{split}$$

yielding

$$\frac{n!}{n^n} = \prod_{d \mid n} \frac{P(d)}{d^{\phi(d)}}.$$

Using Lemma 2.2 with $f(n) = \frac{n!}{n^n}$ and $g(n) = \frac{P(n)}{n^{\phi(n)}}$ for all $n \in \mathbb{N}$, we get

$$\frac{P(n)}{n^{\phi(n)}} = \prod_{d|n} \left(\frac{d!}{d^d}\right)^{\mu(n/d)},\,$$

yielding the desired result.

Using Lemma 2.2, Lemma 2.3, and Theorem 2.4, we obtain the formula for P'(n) as the following.

Theorem 2.5. For each positive integer n > 2, we have P'(n) =

$$\begin{cases} \left(\frac{n}{2}\right)^{\phi(n/2)} \prod_{d \mid (n/2)} \left(\frac{d!}{d^d}\right)^{\mu(n/2d)} \\ if n \equiv 0 \pmod{4} \\ n^{\phi(n)/2} \prod_{d \mid n} \left(\frac{\left(\frac{d-1}{2}\right)!}{d^{(d-1)/2}}\right)^{\mu(n/d)} \\ if n \equiv \pm 1 \pmod{4} \\ \left(\frac{n}{2}\right)^{\frac{\phi(n/2)}{2}} \left(\frac{1}{2}\right)^{\frac{\phi(n/2)}{2}} \\ \prod_{d \mid (n/2)} \left(\frac{d(d-1)\cdots\left(\frac{d+1}{2}\right)}{d^{(d+1)/2}}\right)^{\mu(n/2d)} \\ if n \equiv 2 \pmod{4}. \end{cases}$$

Proof. We prove this formula by considering three possible cases.

Case $I: n \equiv 0 \pmod{4}$. Then n and n/2 are even. It follows that (x, n) = 1 if and only if (x, n/2) = 1 for any positive integer x. From Theorem 2.4, we have

$$P'(n) = \prod \left\{ x : 1 \le x \le \frac{n}{2}, (x, n) = 1 \right\}$$

$$= \prod \left\{ x : 1 \le x \le \frac{n}{2}, \left(x, \frac{n}{2} \right) = 1 \right\}$$

$$= P\left(\frac{n}{2}\right)$$

$$= \left(\frac{n}{2}\right)^{\phi(n/2)} \prod_{d \mid (n/2)} \left(\frac{d!}{d^d}\right)^{\mu(n/2d)}.$$

Case II: $n \equiv \pm 1 \pmod{4}$. Then n is odd. For d|n, we define

$$B_d = \{x : 1 \le x \le \frac{n}{2}, (x, n) = d\}.$$

Note that $B_d = \emptyset$ if and only if d = n, so we let $\prod B_n = 1$. Clearly,

$$\bigcup_{d \mid n} B_d = \left\{1, 2, \dots, \frac{n-1}{2}\right\}$$

and

$$B_{d_1} \cap B_{d_2} = \emptyset$$

for $d_1 \neq d_2$. It follows that

$$\prod_{i=1}^{(n-1)/2} i = \left(\frac{n-1}{2}\right)! = \prod_{d|n} \prod B_d. \quad (2.5)$$

Next, we show that

$$B_d = dR_1'\left(\frac{n}{d}\right). \tag{2.6}$$

Observe that $R_1'(n/d) = \emptyset$ if and only if d = n, so we let P'(1) = 1. If $x \in B_d$, then $1 \le x \le n/2$ and (x,n) = d. It follows that $1 \le x/d \le n/2d$ and (x/d,n/d) = 1. Consequently, $x/d \in R_1'(n/d)$ and so $x \in dR_1'(n/d)$. If $y \in R_1'(n/d)$, then $1 \le y \le n/2d$ and (y,n/d) = 1. It follows

that $1 \le d \le dy \le n/2$ and (dy, n) = d. This implies that $dy \in B_d$.

For d|n with $d \neq n$, we get n/d is odd and n/d > 1. Using Lemma 2.3, we have

$$\begin{aligned} \left| R_1'\left(\frac{n}{d}\right) \right| &= \left| \left\{ x : 1 \le x \le \frac{n}{2d}, \left(x, \frac{n}{d}\right) = 1 \right\} \right| \\ &= \left| \left\{ x : 1 \le x \le \frac{n/d - 1}{2}, \left(x, \frac{n}{d}\right) = 1 \right\} \right| \\ &= \frac{\phi\left(n/d\right)}{2}. \end{aligned}$$

Form (2.6), we obtain

$$\prod B_{d} = \prod dR'_{1} \left(\frac{n}{d}\right)$$

$$= d \frac{\phi(n/d)}{2} \prod R'_{1} \left(\frac{n}{d}\right)$$

$$= d \frac{\phi(n/d)}{2} P'\left(\frac{n}{d}\right).$$

It follows from (2.5) that

$$\left(\frac{n-1}{2}\right)! = \prod_{\substack{d \mid n \\ d < n}} B_n \prod_{\substack{d \mid n \\ d < n}} B_d$$

$$= \prod_{\substack{d \mid n \\ d < n}} d \frac{\phi(n/d)}{2} P'\left(\frac{n}{d}\right)$$

$$= \frac{\prod_{\substack{d \mid n \\ d < n}} d \frac{\phi(n/d)}{2} P'\left(\frac{n}{d}\right)}{n^{1/2} P'\left(1\right)}$$

$$= \frac{\prod_{\substack{d \mid n \\ n}} \left(\frac{n}{d}\right)^{\phi(d)/2} P'\left(d\right)}{n^{1/2}},$$

by Eq. (2.2) and so

$$n^{1/2} \left(\frac{n-1}{2} \right)! = \prod_{d|n} \left(\frac{n}{d} \right)^{\phi(d)/2} P'(d)$$
$$= \prod_{d|n} n^{\phi(d)/2} \prod_{d|n} \frac{P'(d)}{d^{\phi(d)/2}}$$

$$= n^{\frac{1}{2}\sum_{d|n} \phi(d)} \prod_{d|n} \frac{P'(d)}{d\phi(d)/2}$$
$$= n^{n/2} \prod_{d|n} \frac{P'(d)}{d\phi(d)/2},$$

by Lemma 2.1(ii). This shows that

$$\frac{\left(\frac{n-1}{2}\right)!}{n^{(n-1)/2}} = \prod_{d|n} \frac{P'(d)}{d^{\phi(d)/2}}.$$

By Lemma 2.2 with
$$f(n) = \frac{\left(\frac{n-1}{2}\right)!}{n^{(n-1)/2}}$$
 and $g(n) = \frac{P'(n)}{n^{\phi(n)/2}}$ for all $n \in \mathbb{N}$, we get

$$\frac{P'(n)}{n^{\phi(n)/2}} = \prod_{d|n} \left(\frac{\left(\frac{d-1}{2}\right)!}{d^{(d-1)/2}} \right)^{\mu(n/d)}$$

as desired.

Case III: $n \equiv 2 \pmod{4}$. Then we can write n = 2m for some odd integer m. Thus, for any positive integer x, we have (x, n) = 1 if and only if (x, m) = 1 and x is odd. We also observe that (2y, m) = 1 if and only if (y, m) = 1 for any positive integer y. Using Lemma 2.2, Lemma 2.3, Theorem 2.4, and Case II, we obtain

$$P'(n) = \prod \{x : 1 \le x \le \frac{n}{2}, (x, n) = 1\}$$

$$= \prod \{x : 1 \le x \le m, (x, m) = 1, x \text{ is odd } \}$$

$$= \prod \{\{x : 1 \le x \le m, (x, m) = 1, x \text{ is even} \}\}$$

$$\{x \mid 1 \le x \le m, (x, m) = 1, x \text{ is even} \}\}$$

$$= \prod \{\{x : 1 \le x \le m, (x, m) = 1\} \setminus \{2y \mid 1 \le 2y \le m, (2y, m) = 1\}\}$$

$$= \prod \{\{x : 1 \le x \le m, (x, m) = 1\} \setminus \{2y \mid 1 \le y \le \frac{m}{2}, (y, m) = 1\}\}$$

$$= \frac{\prod\{x: 1 \leq x \leq m, (x, m) = 1\}}{\prod\{2y: 1 \leq y \leq \frac{m}{2}, (y, m) = 1\}} = p^{a(p^{a}-p^{a-1})} \left(\frac{p^{a-1}!}{p^{(a-1)p^{a-1}}}\right)^{\mu(p)} \left(\frac{p^{a-1}!}{p^{(a-1)p^{a-1}}}\right)^{\mu(p)} \left(\frac{p^{a-1}!}{p^{(a-1)p^{a-1}}}\right)^{\mu(p)} \left(\frac{p^{a-1}!}{p^{(a-1)p^{a-1}}}\right)^{\mu(p)} \left(\frac{p^{a-1}!}{p^{(a-1)p^{a-1}}}\right)^{\mu(p)} \left(\frac{p^{a-1}!}{p^{(a-1)p^{a-1}}}\right)^{\mu(p)} \left(\frac{p^{a-1}!}{p^{(a-1)p^{a-1}}}\right)^{\mu(p)} \left(\frac{p^{a-1}!}{p^{(a-1)p^{a-1}}}\right)^{\mu(p)} \left(\frac{p^{a-1}!}{p^{a-1}!}\right)^{\mu(p)} \left(\frac{p^{a-1}!}{p^{a-1}!}\right)^{\mu(p)} \left(\frac{p^{a-1}!}{p^{a-1}}\right)^{\mu(p)} \left(\frac{p^{a-1}!}{p^{a-1}$$

which completes the proof.

3. Explicit formulae

We now proceed to the last section. In this section, we provide explicit formulae for $P(p^a)$ and $P'(p^a)$, where p^a is a prime power, as in the following propositions.

Proposition 3.1. *Let p be a prime and a be* a positive integer. Then

$$P\left(p^{a}\right)=\frac{p^{a}\left(p^{a}-1\right)\cdots\left(p^{a-1}+1\right)}{p^{p^{a-1}}}.$$

Proof. Let p be a prime and a be a positive integer. By Theorem 2.4 and (2.1), we obtain

$$P\left(p^{a}\right)=p^{a\phi\left(p^{a}\right)}\prod_{d\mid p^{a}}\left(\frac{d!}{d^{d}}\right)^{\mu\left(p^{a}/d\right)}$$

$$\begin{split} &= p^{a\left(p^{a}-p^{a-1}\right)} \left(\frac{p^{a-1}!}{p^{(a-1)p^{a-1}}}\right)^{\mu(p)} \left(\frac{p^{a}!}{p^{ap^{a}}}\right)^{\mu(1)} \\ &= \frac{p^{a\left(p^{a}-p^{a-1}\right)} \cdot p^{(a-1)p^{a-1}} \cdot p^{a}!}{p^{a-1}! \cdot p^{ap^{a}}} \\ &= \frac{p^{a}\left(p^{a}-1\right) \cdots \left(p^{a-1}+1\right)}{p^{p^{a-1}}}. \end{split}$$

Proposition 3.2. *Let p be an odd prime and* a be a positive integer. Then

(i)
$$P'(2^a) = \frac{2^{a-1}(2^{a-1}-1)\cdots(2^{a-2}+1)}{2^{2^{a-2}}}$$

for all $a \ge 2$.

(ii)
$$P'(p^a) = \frac{\left(\frac{p^a - 1}{2}\right)\left(\frac{p^a - 3}{2}\right)\cdots\left(\frac{p^{a-1} + 1}{2}\right)}{p^{(p^{a-1} - 1)/2}}$$

Proof. Let p be an odd prime and a be a positive integer.

(i) If $a \ge 2$, then by Theorem 2.5, we obtain

$$P'(2^{a}) = \left(2^{a-1}\right)^{\phi(2^{a-1})} \prod_{d|2^{a-1}} \left(\frac{d!}{d^{d}}\right)^{\mu(2^{a-1}/d)}$$

$$= 2^{(a-1)\phi(2^{a-1})} \left(\frac{2^{a-2}!}{2^{(a-2)2^{a-2}}}\right)^{\mu(2)} \left(\frac{2^{a-1}!}{2^{(a-1)2^{a-1}}}\right)^{\mu(1)}$$

$$= \frac{2^{(a-1)\left(2^{a-1}-2^{a-2}\right)} \cdot 2^{(a-2)2^{a-2}} \cdot 2^{a-1}!}{2^{a-2}! \cdot 2^{(a-1)2^{a-1}}}$$

$$= \frac{2^{a-1}\left(2^{a-1}-1\right) \cdots \left(2^{a-2}+1\right)}{2^{2^{a-2}}}.$$

(ii) By Theorem 2.5 and (2.1), we obtain

$$P'(p^{a}) = p^{a\phi(p^{a})/2} \prod_{d|p^{a}} \left(\frac{\left(\frac{d-1}{2}\right)!}{d^{(d-1)/2}} \right)^{\mu(p')(a)}$$
$$= p^{a(p^{a}-p^{a-1})/2} \left(\frac{\left(\frac{p^{a-1}-1}{2}\right)!}{p^{(a-1)(p^{a-1}-1)/2}} \right)^{\mu(p)}.$$

$$\left(\frac{\left(\frac{p^a - 1}{2} \right)!}{p^{a(p^a - 1)/2}} \right)^{\mu(1)}$$

$$= \frac{p^{a(p^a - p^{a-1})/2} \cdot p^{(a-1)(p^{a-1} - 1)/2} \cdot \left(\frac{p^a - 1}{2} \right)!}{\left(\frac{p^{a-1} - 1}{2} \right)! \cdot p^{a(p^a - 1)/2}}$$

$$= \frac{\left(\frac{p^a - 1}{2} \right) \left(\frac{p^a - 3}{2} \right) \cdots \left(\frac{p^{a-1} + 1}{2} \right)}{p^{(p^{a-1} - 1)/2}},$$

which finishes the proof.

Finally, we note by Proposition 3.1 and Proposition 3.2 (ii) that

$$P(p) = (p-1)!$$

for all primes p and

$$P'(p) = \left(\frac{p-1}{2}\right)!$$

for all odd primes p, respectively.

4. Conclusion

For positive integers n and k, let $R_k(n) = \{x^k : 1 \le x \le n, (x, n) = 1\}$ and $R'_{k}(n) = \{x^{k} : 1 \le x \le n/2, (x, n) = n\}$ 1}. Let $S_k(n)$ and $S'_k(n)$ be the sums of all elements in $R_k(n)$ and $R'_k(n)$, respectively. In the earlier work of Kanasri, Pornsurat, and Tongron, the formulae for both $S_k(n)$ and $S'_k(n)$ were established, which yield generalized versions of the formulae for $S_1(n)$, $S_2(n)$ and $S'_1(n)$, $S'_2(n)$, respectively. In this work, we are interested in studying the products of all elements in $R_k(n)$ and $R'_k(n)$, denoted by $P_k(n)$ and $P'_k(n)$, respectively. We obtain the formulae for both $P_k(n)$ and $P'_k(n)$. Moreover, explicit formulae for $P_k(p^a)$ and $P'_k(p^a)$, where p^a is a prime power, are also derived.

References

- [1] Apostol TM. Introduction to analytic number theory. New York: Springer-Verlag; 1980.
 - 2] Baum JD. A number-theoretic sum. Math. Mag. 1982; 55(2): 111-3.
- [3] Burton DM. Elementary number theory. New York: McGraw-Hill; 2011.
- [4] Kanasri NR, Pornsurat P, Tongron Y. Generalizations of number theoretic sums. Commun. Korean Math. Soc. 2019; 34(4): 1105-15.
- [5] McCarthy PJ. Introduction to arithmetical functions. New York: Springer-Verlag; 1986.
- [6] Niven I, Zuckerman HS, Montgomery HL. An introduction to the theory of numbers. New York: John Wiley & Sons; 1991.
- [7] Rosen KH. Elementary number theory and its applications. New York: Addison-Wesley; 2005.
- [8] Tongron Y, Kanasri NR. A simple proof of generalizations of number-theoretic sums. Songklanakarin J. Sci. Technol. 2022; 44(2): 450-8.